mass residual |eV |

uncP/Ebeam>0.8

0.04 === - Entries : 82011
E =T L - s oz,
- A = - - Std Dev x 14.65
0.03— ", L L - StdDevy  0.006642
0.02 —1400
0.01—
- - 300
3 b
-0.01— 200
-0.02|—
- 100
-0.03
-0.04 - = a5 L 0

0 20 40 60 80 100
decay Z [mm]



mass residual |eV |

-0.01

-0.02

-0.03

-0.04

p(A')/Ebeam>0.8, uncP/Ebeam>0.8

80

h

= Entries 75330
— ] Mean x 10.97 0
- " a L Mean y -0.0006098
— = . = - - - Std Dev x 14.86
- 1 : L. - - Std Dev y 0.004058
| - ]

|
B [ |
— —400
~ 300
- 200
— 100
— |
=y | L | i L L | | | | | | | | | | | | 0
0

100

decay Z [mm]



p(A')/Ebeam<0.8, uncP/Ebeam>0.8

0 ©O© < N O
BIICLYY A dH H H H o © < N O
gomgy

= — &
4 E
X > e
87288 ' 4N
288 s =
0= 5h 4 O
3]
_|lo™©

©

60

40

<t [$2) [N P o — [N ™ <t
o o o < < o o o
© ©° ©° ° T f F 9

Inan] rennisal sseul



prompt A', uncP/Ebeam>0.8

h

- Entries 37890

: Mean -0.001942

- Std Dev 0.00732

| X2 I ndf 47119

Constant 3511+ 28.4

3 Mean -0.0001978 + 0.0000217

10" Sigma 0.002887 + 0.000025
10?

10

1

-0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04
mass residual [GeV]




prompt A", p(A")/Ebeam>0.8, uncP/Ebeam>0.8

h

- Entries 33752

I Mean -0.0005852

- Std Dev 0.004104

L X2 / ndf 46.53/9
Constant 3462 + 28.3

103 Mean —0.0002019 + 0.0000214

Sigma 0.002846 + 0.000025

10?

10

-0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04
mass residual [GeV]




prompt A", p(A")/Ebeam<0.8, uncP/Ebeam>0.8

h
Entries 4138
Mean -0.01325
5 Std Dev 0.01472
10° = X2 / ndf 14/9
I Constant 547+ 3.7
- Mean 0.003846+ 0.011041
L Sigma 0.0277+0.0178

10

-0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04
mass residual [GeV]




prompt A", uncP/Ebeam>0.8

—800
— 700
— 600

____________1________1____________
<t ™ o o o ™
o o o < < o o
o o o o ﬂ ﬂ n_u

Inan] rennisal sseul

=°
Q
?

p(A")/Ebeam



uncP/Ebeam

=
|

[EEN

0.9

0.8

0.7

0.6

prompt A", uncP/Ebeam>0.8

0.5

1
p(A")/Ebeam

—500

—400

300

200

100



prompt A", uncP/Ebeam>0.8

—900
— 800

—700

weaq3/doun

0.6 0.8 1
p(A")/Ebeam

0.4

0.2



prompt A", uncP/Ebeam>0.8

350
300
—250
200

150

100

weaq3/(Aedap v wolj +9)d

0.8

0.6

0.4

0.2

p(A")/Ebeam



p(e- from A' decay)/Ebeam

=

o
o0

o
o

0.4

0.2

prompt A", uncP/Ebeam>0.8

0.6

1
p(A")/Ebeam

— 350

— 300

—1250

200

150

100

50



p(reconstructed e-)/Ebeam

=

o
o0

o
o

0.4

0.2

prompt A", uncP/Ebeam>0.8

— 350

— 300

250

200

150

100

50



prompt A", uncP/Ebeam>0.8

—220
—200
—180
—160
140
120

100

weaq3/(Aedap v woly -a)d

0.8 1

p(reconstructed e-)/Ebeam

0.6

0.4



prompt A", uncP/Ebeam>0.8

100
800

NN NS RN
< ™ o
Q Q Q
o o o

Inan] rennisal sseul

—
Q
o

-0.02

1

0.6 0.8

0.4

0.2
p(reconstructed e-)-p(e- from A' decay)/Ebeam

0

o
7

<
7

4
=
7



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14


